

NAME: MUSTAPHA YAHAYA DANJUMA  
DEPT: COMPUTER ENGINEERING  
MATIC: 18/ENGD2/059  
COURSE: General Mathematics 104

Calculus

$$1. y = \frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1)(x+3)^{3/2}]}$$

$$2. y = \frac{[3e^x \sin 2xc]}{[x^{3/2}]}$$

Integrate the following with respect of the variable

$$1. 4 \sec^2 (3m+1)$$

$$2. 2t (3t^2 - 1)^{1/2}$$

$$3. \frac{2x}{(4x^2 - 1)^{1/2}}$$

Solution

1 Calculus

$$y = \frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1)(x+3)^{3/2}]}$$

$$y = \frac{(x^2 - 1)}{(2x^2 + 2)^{3/2}}$$

$$y = \frac{(x^2 - 1)}{(x^2 + 1)^{3/2}}$$

since standard form =  $ax^n$

$$\text{then } y = \frac{x-1}{x+1} = \frac{x}{(x)^3}$$

$$y = 3x^{-2}$$

where  $a = 3$  and  $n = -2$

$$\therefore \frac{dy}{dx} = (3)(-2)x^{-2-1}$$

$$= -6x^3 = -\frac{6}{x^3}$$



$$2 \quad y = \frac{3e^x \times \sin(2x)}{x^{5/2}}$$

finding the derivative of the function

$$y = \frac{d}{dx} \left( \frac{3e^x \times \sin(2x)}{x^{5/2}} \right)$$

using differentiation rule

$$\frac{d}{dx} \left( \frac{f}{g} \right) = \frac{d}{dx} (f)g - f \times \frac{d}{dx} (g)$$

$$\therefore y = \frac{d}{dx} (3e^x \times \sin(2x)) \times x^{5/2} - 3e^x \times \sin(2x) \times \frac{d}{dx} (x^{5/2})$$

derivative of the product =

$$y = \frac{(3e^x \times \sin(2x) + 3e^x \times \cos(2x) \times 2) \times x^{5/2} - 3e^x \times \sin(2x) \times \frac{d}{dx} (x^{5/2})}{(x^{5/2})^2}$$

$$\therefore y = \frac{6x^2 \sqrt{x} e^x \times \sin(2x) + 12x^2 \sqrt{x} e^x \times \cos(2x) - 15 \sqrt{x} e^x \times \sin(2x)}{2x^5}$$

~~2x^5~~



## Integration

1  $4 \sec^2(3m+1)$

in exponential form

$$= 2^2 \times \sec(3m+1)^2$$

multiply through

$$= (2 \sec(3m+1))^2$$

---

2  $2t(3t^2-1)^{1/2}$

Using simplification method

$$= a^{\frac{m}{n}} = n \sqrt[n]{a^m}$$

$$\therefore 2t \sqrt{3t^2-1}$$

---

c) 3  $\frac{2x}{(4x^2-1)^{1/2}}$

$$= \frac{2x}{(4x^2-1)^1}$$

---

using complex fraction

$$= \frac{x}{4x^2-1}$$

---